%‘Z'J

§ P . o]~

s opt

ERRLLE Y EEE PR

i

W;%ﬁmﬁﬂ*% C HEM # F o

BBRAHIT "V,

: !

[ of

i ami ¢ e L

e B st ramenne st e

2.. Miller Steel and Jackson Steel are iden

! :?f.‘;f ;i
B U AL St o YarTrrTm
3 ? I b R VB e v s - o | $ﬁa% 3 E
o Yo daon ot 5 v U '} N
3#8% ﬁﬁ}loo. U 0 s

‘“f T LBy Gos

Suppose gvery, st\(ock in, the eeorz)omy has a standard deviation of 22%; and a covariance with every other
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stock of 107 %gﬂtc}r}‘a‘ng the ft??dard devratlon ofa portfoho that divides its money equally among every

stock it holds 1{‘ it holds | )
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d. 1 billion stocks (hint: ﬁnd the approxnmate standard deviation). (/0 points) -
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tical except for caprtal structure. Miller has 40% debt and Jackson
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has 30% debt “Ina perfect capltal maricet and a world of no taxes, both companies can borrow at a rate of

interest of 12%. (10 points) -

a. Ifthe overall caprtallzatxon rate‘of the company is 20% and you own 2% of the stock of Miller, what is
youy, dollar retur\n}yy}leﬁn thg c{:ﬁnfpanyhas net’ operatlng income of $500,0007 .

b. If Jacksor}ﬁtee} hﬁ?,;t‘l.‘;?, gan}e’$‘i500 000 of net operatmg incame as Miller, and you invested the same
amount, of . money Jm‘ ,L{ ac}lgislor‘l \ar}ldr rec\elved ‘the same armount of dollar return, what percentage of the total
stock of Jackson would you ‘own? What is the equlty caprtahzatlon rate? Why does it differ from that of

Miller?

Satel

3. The Aplus Mining Comp{any is pl‘annmg to enter the oil drilling business and is looking for a proxy

company,to measure t}l? risk 1nvolved in it. Bebetter Oil, whose stock is publicly traded, is suggested as an
B G afg iy
appropriate benchmark. Bebetter has a debt- -equity ratio of 0.3, a beta of 1.25, and an effective tax rate of

34%. Aplus has a debt- equrty ratio of 0.5. Its outstanding bonds have a coupon rate of 12 %, and it has a
marginal tax rate of 34% (10 points) :
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a., If Ap}us r)namta(ms {}ts 50% debt- equrty ratlo,‘ what is the beta it should use for evaluating the rate of
EEAN ll,gﬂ{qk ” Q‘ R . ) .

‘return on its new project? -

b. Ifthe rlsk-free ratée pre}sently is 8% and the expected return on the market portfolio is 11%, what return
AU LTI & 8
- should the company required fo fo mthe prOJect 1f it uses a CAPM approach”
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4. Financial managers will want to invest the portion of excess fund to short-term marketable securities.

Describe at least 4 types of avallable short term mvestmcnt instruments. (10 points)

Tt RS PR A

S. Ten years ago you started up Tarwan Blue Green Way (TGBW) which specializes in home furniture. Your
st LOUSIE MBI apaiini )

stock holdmgs }n thls ﬁrr%ponstltute nearly 100% of your portfolio. TGBW has a book value of $10 million,
;and last yea;' prod}lccd $3. rmlhon in ptroﬁts Your cost of capltal equals 20%. (10 points)
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a. A financial advisor notes that your ‘feturn’on equity is greater than your cost of capital. The advisor
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suggests that you increase the firm’s investments unti! the return on equity equals the cost of capital.
Should you do so? Explain why or why not in five sentences or less.

Over the years you have noticed that the asset returns have a standard deviation of 40% per year. The
current market value of your equity equals $40 million. You believe that the firm can enter the commercial

furniture business by spending $10 million. This will increase the value of the firm by $15 million.

b. If you go ahead with the expansion via a debt issue, how much will your equity be worth?
If you finance this expansion with risk free debt, what will the standard deviation of the return on the
firm’s equity equal?

d. What would the answers to b and ¢ be if you financed the expansion with $5 million in equity and §5
million in risky debt instead? Just explain (in under five sentences) what would change, you cannot

get a numerical solution!

6. Answer the following questions about fixed income price/return. (10 points)

a. The price of a Treasury bond with a 12% coupon that matures on October 12, 2009, is quoted as
102-07. Today is March 5, 2005, 54 days after the previous semiannual coupon payment and 127
days before the next coupon payment. What is the cash bond price? (hint: the cash bond price
includes quoted price and accrued interest)

b. Suppose you bought a T-bill with face value 1000 at following market quotes.

Maturity Days to Maturity Bid Ask Change
June 27, 2005 90 4.81 471 -0.03

What is the actual annual returm (yield-to-maturity on an actual/365 day basis) you earn on the

Treasury bill for the 90-day period?

7. Suppose the TAIEX spot index is at 6500 and the current repo rate is 4% annual rate. (20 points)

a. what is the theoretical value (fair price) of a futures contract which expires in 0.5 year? (assuming no
cash dividends during the period;)

b. If the actual futures price is 6595, what will be the arbitrage profit in a perfect market?
In an imperfect market, if the round-irip arbitrage costs additional 35 (index points) transaction costs,
and the arbitrageur faces unequal borrowing rate (5%) and lending rate (3%), what are the no-arbitrage
bounds?

d. Given above no-arbitrage bounds, is there any arbitrage profit?

8.' Below table contains the price quotes for the CBOE (Chicago Board Options Exchange) traded MicroSoft
call options and put options. The MicroSoft stock is currently traded at $24.08.  The *05 Mar 17.50”
stands for an option with exercise price $17.5 and will expire in March 2005. The table shows the option

premium, the daily trading volume, and the open interest. (20 points)
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a. What is open interest? Why are open interests substantially larger than the correspondent trading
volume for all the March options?

b. List all the in-the-money calls and in-the-money puts (including March and April options) in the below
table. - ‘ A

c. Explain why the 05 Apr 25.00 call is more expensive than the 05 Mar 25.00 call?
For only March puts, explain why the trading volume shows a pattern symmetric to the “05 Mar 25.00”

put.
' MSO Spot price: 24.08
Mar 10, 2005 @ 11:57 ET (Data 20 Minutes Delayed)
Calls ' préi;\ium Trading Open Puts premium Trading) Open
~iw - |Volumelinterest] Volumejlnterest
05 Mar17.50 | -.11.00 o| 288 05Mar17.50 0.10 ol 3388
05 Mar 20.00 . 4.10 v 27 867 05 Mar 20.00 0.30 78 3719 ~'
05 Mar 22.50 ' .-2.30 247 332 05 Mar 22.50 0.65 118 4521
05 Mar 25.00 . 075 410 5087 05 Mar 25.00 1.75 629] 11330
05 Mar 30,00 | -+ 0.65 108| 12432] 05 Mar 30.00 6.10] 158 12248
05 Mar 35.00 | . - 0.05 22| 19668 05 Mar 35.00 11.00 69| 13319
05 Mar 40.00 i o 0.65 0 8384 05 Mar 40.00 16.00 20 2119
05 Mar 45.00 | -~ 0.05 ‘ 0 2093] 05 Mar45.00 18.70 0 1001
05 Apr 20.00 B R 0 0] 05 Apr20.00 1.30 3 0
05 Apr22.50 | - 0 0 0| 05Apr2250 2.15 15 0
05 Apr25.00 | 150 208 1586 05 Apr25.00 320] 843 4033
05 Apr30.00 |+ 030| 120{ 4994/ 05 Apr30.00 670 98] 2381
05 Apr35.00 | 0.0 115/ 5120 05 Apr 35.00 11.40 40| 1770
05 Apr40.00 | 005 o| 2783 05 Apr40.00 15.10 of 1071




